
Review 
 

too hot to drink  /  too much work to do 
 
Grammar:  ᵜ too…... (for…...) to…... 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Exercise: rewrite the sentences using ‘too…to…’ 

 

We ordered a lot of food.  
We couldn't finish it. 

= 
 
__________________________________ 

The soup is very sweet. 
I can’t eat it. 

= 
 
__________________________________ 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
The car is very expensive. I can’t buy it. 
 
   The car is too expensive for me to buy                     . 

 
He had a lot of homework. He couldn’t finish it before bedtime.  
 
   He had too much homework to finish before bedtime         . 



old enough to get married 
 
Grammar:  ᵜ ………. enough (for…...) to…... 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 

 
 
 
 
 
She is 23. She can get married if she wants. 
 
_______________________________________________________. 
 
He is clever. I’m sure he can pass the test. 
 
_______________________________________________________. 
 
 

enough   VS   too 
 
 
 
 
 
 
 
 
He is not old enough to play this game. 
 
_______________________________________________________. 
 
The room is too small for us to stay. 
 
_______________________________________________________. 
 



Test: rewrite the sentences using ‘too…...   OR  (not) ……. enough’ 
 
 
 

1.  He is too short to play basketball. 
 
 
 
__________________________________________________________________. 
 
 
 

2.  Jo is not strong enough to carry this bag. 
 
 
 
__________________________________________________________________. 
 
 
 
3.  I was too slow to take part in the race. 
 
 
 
__________________________________________________________________. 
 
 
 
4.  The meeting room is not large enough to seat all the participants comfortably. 
 
 
 
__________________________________________________________________. 
 

 
 

5.  The book was too boring to finish. 
 
 
 
__________________________________________________________________. 


